A £ 0l & AF & S

Al A

A AEARAL
M H=EE
Cel: AZXTHM (CH9: &S1)
S HH - BAEH) - HRAY - BYS ol &4 ol 8 o HRE
A=A DL 13,287,474 10,474,124 2,813,350
2 591,8% 591,8%4 0
& 3,409,441 3,328,141 81,300
= 300,000 0 300,000
i 8,986,139 6,554,089 2,432,050
NS 13,041,115 10,237,079 2,804,036
2l 591,8%4 591,8% 0
< 3,409,441 3,328,141 81,300
S 300,000 0 300,000
= 8,739,780 6,317,044 2,422,736
AR XH M 1,752,240 702,240 1,050,000
7 92,568 92,568 0
= 11,901 11,901 0
S 300,000 0 300,000
= 1,347,771 597,771 750,000
AEZ HSTE J2HE 8 Y 50,000 0 50,000
207 AN 50,000 0 50,000
01 2= AHI 50,000 0 50,000
O &2 Hsds JI2HE 884
50,000,000& 50,000 0 50,000
FYZIR|ZE E3& 2UAIE HES SAHEZHI) 1,000,000 0 1,000,000
S 300,000 0 300,000
= 700,000 0 700,000
401 AIEBIZL 20HY 1,000,000 0 1,000,000
= 300,000 0 300,000
= 700,000 0 700,000
01 Al&HI 1,000,000 0 1,000,000
O ZEACXE S RUHAE HES S
At 1,000,000,000& 1,000,000 0 1,000,000
x 300,000 0 300,000
i 700,000 0 700,000
AIXAlS 5,513,000 4,210,000 1,303,000
< 3,260,000 3,250,000 10,000
= 2,253,000 960,000 1,293,000
CHEt2l= MISUTHIHER A XA 215,000 65,000 150,000
308 XXM SOIA 75,000 25,000 50,000
11 S 2SS & HASAIE 75,000 25,000 50,000
O CHEH2I= MSAUMINLE ASAIY K&
50,000,000& 50,000 0 50,000
401 AIEHIZL 20 100,000 100,000
01 Al&H| 100,000 100,000
O HMSFAUMHLH RXEESA
100,000, 000& 100,000 0 100,000
272 MSAE EXIXA(ZH]) 168,000 135,000 33,000




2A:

M MsdE
Gl AEIAIL (SH9 H2)
SN - B - SA(B) - NIRAY - BES 0l &y ol B o HIRS2
< 50,000 40,000 10,000
= 118,000 95,000 23,000
401 AlEHIYL S CHYI 168,000 135,000 33,000
=S 50,000 40,000 10,000
= 118,000 95,000 23,000
01 AlHl 168,000 135,000 33,000
O ot=sol+ €X 93,000,000 93,000 60,000 33,000
=S 28,000 18,000 10,000
i 65,000 42,000 23,000
B2 MASZE ZEMS(C/HE)(HEAY) 1,600,000 480,000 1,120,000
< 480,000 480,000 0
[Ea 1,120,000 0 1,120,000
401 AlEHIYL S THYI 1,600,000 480,000 1,120,000
< 480,000 480,000 0
= 1,120,000 0 1,120,000
01 AlZHI 1,600,000 480,000 1,120,000
O m3a=td x4 1,600,000,000& 1,600,000 480,000 1,120,000
=S 480,000 480,000 0
[ 1,120,000 0 1,120,000
AR X0PIE 3,151,334 2,749,534 401,800
2l 199,326 199,326 0
=S 107,540 36,240 71,300
= 2,844,468 2,513,968 330,500
HFHA X2 981,284 727,784 253,500
307 2I2t01 & 977,324 723,824 253,500
02 LB HAIHE X 417,065 325,565 91,500
O detds AEbH &3Hsl ot
1,500,000 1,500 0 1,500
O MetgdaEds tsd &t
90,000,000 90,000 0 90,000
03 UL HEI2SHIEx 148,259 128,259 20,000
O ¥&ZHd=s= 2gd N 148,259 128,259 20,000
- AR= 2gHI(MR22, 3323 8)
51,780,000 51,780 31,780 20,000
04 IZFHALAIS E X 412,000 270,000 142,000
O ¥E= tHELE S22 el =
4,000,000 4,000 0 4,000
O ZEZEH &2l =
2,000,000& 2,000 0 2,000
O &&= M=E2 =218 stitd Nzl
15,000,000 15,000 0 15,000
O Z&zZE3 | d= S5 7202 N
& 50,000,000 50,000 0 50,000
O &=z sz g3 =
2,000,000& 2,000 0 2,000
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A ALAAD}
3 Msds
©e: AZXOIAE (SH &)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl N3 A Hwsz2
O dgd 25 =A==U3 M=
5,000,000& 5,000 0 5,000
O ZEZFFEIEI S32U3 K=
9,000,000& 9,000 0 9,000
O ¥z =8 5502 stitSUsl A
2,000,000 2,000 0 2,000
O HYXl ¥ MEH=s &©203 Nzl
18,000,0002 18,000 0 18,000
O ZEZHLIAESIZHH HILIAOS JHE
2,000,000& 2,000 0 2,000
O &&2 530 Ia2Zus KA
3,000,000 3,000 0 3,000
O HtE XA &= OtOtHt=CHE] JHE|
30,000,000& 30,000 0 30,000
ZOHe! MSEAF K& 143,500 109,500 34,000
307 212H01 ™ 143,500 109,500 34,000
02 QIZIBAAIEER 83,500 79,500 4,000
O Hdetglk s0tl M=tz &0t
5,000,000& 5,000 3,000 2,000
O dIZFHeI=HEl &It
2,000,000& 2,000 0 2,000
04 QIZHSHAIAIE B & 30,000 0 30,000
O MIBEOCIMA EHH=Z N XA
30,000,0002 30,000 0 30,000
M=l MSSA HE(ZHI) 80,000 30,000 50,000
< 80,000 30,000 50,000
307 212t01H 80,000 30,000 50,000
(o= 80,000 30,000 50,000
04 QIZHSHAIAIZ E X 80,000 30,000 50,000
O MetdZRIALD| &= OtotBt= 3l
50,000,000 50,000 0 50,000
[ 50,000 0 50,000
LARSZIIR s4E FH 23 423,000 400,000 23,000
301 LLtENZ 423,000 400,000 23,000
Rzt - 2SREEEHS 423,000 400,000 23,000
O A&E2SFI2 22 (84E) 423,000 400,000 23,000
- Usl&&dl 2 dXl=&d|
32,000,000& 32,000 23,000 9,000
- HAZ 30,000,000& 30,000 20,000 10,000
- SEXE & =4 (Yxz, 22ldl, SF4
) 20,000,000 20,000 16,000 4,000
H2(HOHA L3t Met & 85 2H (=) 40,000 0 40,000
[ 20,000 0 20,000
o 20,000 0 20,000
307 212t01H 40,000 0 40,000
< 20,000 0 20,000




EM A=A
M MsEE
Chel: AZX0OBIE EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
= 20,000 0 20,000
04 DIZHHATAIZ B & 40,000 0 40,000
O = (ZOHHME &3t et & S8 2
40,000,000& 40,000 0 40,000
& 20,000 0 20,000
s 20,000 0 20,000
HI(HOH)ME £l MEHX XA (ZHI) 1,300 0 1,300
< 1,300 0 1,300
201 fer=3| 1,300 0 1,300
< 1,300 0 1,300
01 At2teltl 1,300 0 1,300
O MI(HOMHHMAE £l MEHE X2
1,300,000 1,300 0 1,300
< 1,300 0 1,300
AEX2ARL 2,624,541 2,575,305 49,236
Jl 300,000 300,000 0
[ 30,000 30,000 0
= 2,294,541 2,245,305 49,236
H=Al2S2el 1,237,811 1,188,575 49,236
101 QI24H| 74,111 64,875 9,236
M IRMZZISEs 74,111 64,875 9,236
O |EAE AZX Mata HA el 22|
76,9603 x6E »20 9,236 0 9,236
401 AlEHIYL S THYI 834,000 844,000 40,000
01 Al&HI 834,000 844,000 40,000
O SSHSAE |A 2+ S 90,000 50,000 40,000
FEAE ALZX dEd =H HYFAEES
e 40,000,000& 40,000 0 40,000
HY2HIH(AEZ=AH DL 99,020 92,020 7,000
Jl=23sl 99,020 92,020 7,000
J|23H|/AZ=F MY 67,020 £0,020 7,000
201 fer= 3| 51,720 44,720 7,000
01 AtR2t2l] 41,720 3,720 7,000
O «et2dd| 22,000,000 22,000 15,000 7,000
eSS (AZEAAD 147,339 145,025 2,314
SBENS(AZZAAE) 2,339 25 2,314
SHXE(H301EH 2,339 25 2,314
802 Btet=0IE 2,339 25 2,314
01 =Ex3erE=a 336 25 311
O 20144 &5 =22% e XJA OIAt
250,920 251 0 251
O 2028 AX=AX0IEH KIJAY OIXF
59,4602 60 60
02 Al - SHIEXZEHEZ 2,003 2,003




SA AmEARITL
Hu: HRBS(AZZAMAD)
ool PEXB(AEEARICH (o m
SA -3 - SA(3) - MISAY - B85 Off &K N3 A HunsZ
O 201 22LHY QIMTIRS KR A
2,000,0002 2,000 2,000
O 2021 B2LHY IMXIRS XIRAI OIX
2,12024 3




